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. The value of the digit 5 in 24, 513 is how many times the value of the digit 5 in 3577

() 10
(&) 100
(©) 1,000
(o) 10,000

Part A

Saolve the multiplication problems to discover a pattern.

Enter your answers in the boxes.
1x6=6

10x6=

100 x 6 = I

1,0[IO><B=£

Part B

Use the pattern to help you solve this problem.

Enter your answer on the box.

100,000 x 6= |



Which symbol belongs in the box to make a true comparison? (use <, =, or =),

Write your answer in the box.

2,000 + 300 + 10 +5 | 3,000+ 200 + 30 4 7

Complete the sentence using place value.

2 hundred = - tens

B Which number sentence correctly compares two numbers?

@ forty-six thousand three hundred fifteen < 46, 350
29,073 = 20,000 + 9,000+ 700 + 3
@ 10,000 + 6,000 + 400 >sixteen thousand four hundred ten

(®) 86,502 — 80,000 + 6,000 + 500 + 20



